

G. K. DWIVEDI (*)

On the Absolute Riesz Summability Factors of Infinite Series. (**)

1. - Let $0 \leq \mu_0 < \mu_1 < \dots < \mu_n < \dots \rightarrow \infty$, and let $\sum a_n$ be a given infinite series. Then $\sum a_n$ is said to be summable $|\mathbf{R}, \mu_n, 1|$, if ([2], [6])

$$(1.1) \quad \sum_n \Delta \frac{1}{\mu_n} \cdot \left| \sum_{m=1}^n \mu_m a_m \right| < \infty,$$

where $\Delta(1/\mu_n) = (1/\mu_n) - (1/\mu_{n+1})$.

It is known ([1], [5]) that summability $|\mathbf{R}, e^n, 1|$ is equivalent to summability $|\mathbf{C}, 0|$, which itself is equivalent to absolute convergence.

The extension of this definition of absolute RIESZ summability to the index k , where $k > 1$, is given by

$$(1.2) \quad \sum_n \Delta \left(\frac{1}{\mu_n} \right)^k \left| \sum_{m=1}^n \mu_m a_m \right|^k < \infty$$

which is same as the definition [7] when $\alpha = 1$ and $\lambda = \mu_n$, and $\sum a_n$ is said to be summable $|\mathbf{R}, \mu_n, 1|_k$.

It is obvious that summability $|\mathbf{R}, \mu_n, 1|$ and summability $|\mathbf{R}, \mu_n, 1|_1$ are the same.

In this paper we shall be concerned with the type $\mu_n = \exp n^\alpha$.

(*) Indirizzo: Department of Mathematics, Banaras Hindu University, Varanasi 5, India.

(**) Ricevuto: 2-IX-1969.

2. - In 1965, TRIPATHI [4] established the following

Theorem T. Let $\{\lambda_n\}$ be a convex sequence such that $\sum n^{-1}\lambda_n < \infty$. If

$$(2.1) \quad \frac{1}{n} \sum_{\nu=1}^n |T_\nu| = O(1),$$

where

$$(2.2) \quad T_n = \frac{1}{n} \sum_{i=1}^n i a_i$$

as $n \rightarrow \infty$, then the series $\sum \lambda_n a_n / n^\alpha$ is summable $|\mathbb{R}, \exp n^\alpha, 1|$.

The object of this paper is to extend this to $|\mathbb{R}, \exp n^\alpha, 1|_k$ summability. We shall prove the following

Theorem. Let $\{\lambda_n\}$ be a convex sequence such that $\sum n^{-1}\lambda_n < \infty$. If

$$(2.3) \quad \sum_{\nu=1}^n |T_\nu|^k = O(n),$$

where

$$(2.4) \quad T_n = \frac{1}{n} \sum_{i=1}^n i a_i$$

as $n \rightarrow \infty$, then the series $\sum \lambda_n a_n / n^\alpha$ is summable $|\mathbb{R}, \exp n^\alpha, 1|_k$ for $0 < \alpha \leq 1$.

3. - The lemmas needed for the proof of our Theorem are collected below:

Lemma 1 ([3], lemmas 3 and 4). If $\{\lambda_n\}$ is a convex sequence such that $\sum n^{-1}\lambda_n$ is convergent, then λ_n is non-negative and decreasing, $n \Delta \lambda_n = o(1)$ and $\lambda_n \log n = O(1)$, as $n \rightarrow \infty$.

Lemma 2. Under the same conditions as in Lemma 1,

$$n \Delta (\lambda_n)^k = o(1) \quad \text{and} \quad (\lambda_n)^k \log n = O(1) \quad \text{as } n \rightarrow \infty.$$

Proof. Since $\{\lambda_n\}$ is a convex sequence, therefore $\{(\lambda_n)^k\}$ is also a convex sequence and

$$(3.1) \quad \sum \frac{(\lambda_n)^k}{n} < \infty,$$

consequently the proof immediately follows from Lemma 1.

Lemma 3 ([4], lemma 2). If $\{\lambda_n\}$ is a convex sequence such that $\sum n^{-1}\lambda_n$ is convergent and

$$(3.2) \quad \chi_n = \lambda_n/n^{1+\alpha}$$

then, as $n \rightarrow \infty$,

$$(3.3) \quad n^2 \Delta \chi_n = O(1),$$

$$(3.4) \quad \sum_{m=1}^n m \Delta \chi_m = O(1)$$

and

$$(3.5) \quad \sum_{m=1}^n m^2 \Delta^2 \chi_m = O(1).$$

4. - Proof of the Theorem. From (1.1) it is clear that for establishing the Theorem we have to show that

$$(4.1) \quad \sum_n \Delta \left(\frac{1}{\mu_n} \right)^k \cdot \left| \sum_{m=1}^n \mu_m \chi_m m a_m \right|^k < \infty,$$

where

$$(4.2) \quad \mu_n = \exp n^\alpha$$

and

$$(4.3) \quad \chi_n = \lambda_n/n^{1+\alpha}.$$

Without any loss of generality we can suppose that $a_0 = 0$.
Now applying ABEL's transformation, we have

$$\begin{aligned} \sum_{m=1}^n \mu_m \chi_m m a_m &= \sum_{m=1}^{n-1} \Delta(\mu_m \chi_m) \sum_{i=1}^m i a_i + \mu_n \chi_n \sum_{i=1}^n i a_i \\ &= \sum_{m=1}^{n-1} m T_m \mu_m \Delta \chi_m + \sum_{m=1}^{n-1} m T_m \chi_{m+1} \Delta \mu_m + \mu_n \chi_n n T_n, \end{aligned}$$

so that

$$(4.4) \quad \sum_{m=1}^n \mu_m \chi_m m a_m = \sum_1 + \sum_2 + \Omega, \quad \text{say.}$$

Hence applying HÖLDER'S inequality with indices k and k' , where $1/k + 1/k' = 1$, we have:

$$\begin{aligned}
 \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k |\Sigma_1|^k &= \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k \left| \sum_{m=1}^{n-1} m T_m \mu_m \Delta \chi_m \right|^k \\
 &\leq \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k \left[\sum_{m=1}^{n-1} m (\Delta \chi_m) (\mu_m)^k |T_m|^k \right] \cdot \left[\sum_{m=1}^{n-1} m \Delta \chi_m \right]^{k-1} \\
 &= O(1) \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k \left[\sum_{m=1}^{n-1} m (\Delta \chi_m) (\mu_m)^k |T_m|^k \right] \\
 &= O(1) \sum_{m=1}^{\nu-1} m (\Delta \chi_m) (\mu_m)^k |T_m|^k \sum_{n=m+1}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k \\
 &= O(1) \sum_{m=1}^{\nu} m (\Delta \chi_m) |T_m|^k = O(1) \sum_{m=1}^{\nu-1} \Delta (m \Delta \chi_m) \sum_{i=1}^m |T_i|^k + O(1) \nu (\Delta \chi_{\nu}) \sum_{i=1}^{\nu} |T_i|^k \\
 &= O(1) \sum_{m=1}^{\nu-1} m^2 (\Delta^2 \chi_m) + O(1) \sum_{m=1}^{\nu-1} m (\Delta \chi_m) + O(1) \nu^2 (\Delta \chi_{\nu}),
 \end{aligned}$$

so that

$$(4.5) \quad \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k |\Sigma_1|^k = O(1) \quad \text{as } \nu \rightarrow \infty.$$

Also similarly

$$\begin{aligned}
 \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k |\Sigma_2|^k &= \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k \left| \sum_{m=1}^{n-1} m T_m \chi_{m+1} \Delta \mu_m \right|^k \\
 &\leq \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k \left[\sum_{m=1}^{n-1} m \chi_{m+1} (\Delta \mu_m)^k |T_m|^k \right] \left[\sum_{m=1}^{n-1} m \chi_{m+1} \right]^{k-1} \\
 &= O(1) \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k \left[\sum_{m=1}^{n-1} m \chi_{m+1} (\Delta \mu_m)^k |T_m|^k \right] \\
 &= O(1) \sum_{m=1}^{\nu-1} m \chi_{m+1} (\Delta \mu_m)^k |T_m|^k \sum_{n=m+1}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k
 \end{aligned}$$

$$\begin{aligned}
 &= O(1) \sum_{m=1}^{\nu} m^{\alpha} \chi_m |T_m|^k \\
 &= O(1) \sum_{m=1}^{\nu-1} \Delta(m^{\alpha} \chi_m) \sum_{i=1}^m |T_i|^k + O(1) \nu^{\alpha} \chi_{\nu} \sum_{i=1}^{\nu} |T_i|^k \\
 &= O(1) \sum_{m=1}^{\nu-1} m^{\alpha} \chi_m + O(1) \sum_{m=1}^{\nu-1} m^{\alpha+1} \Delta \chi_m + O(\lambda_{\nu}) \\
 &= O(1) \sum_{m=1}^{\nu-1} \frac{\lambda_m}{m} + O(1) \sum_{m=1}^{\nu-1} \Delta \lambda_m + O\left(\frac{1}{\log \nu}\right),
 \end{aligned}$$

therefore

$$(4.6) \quad \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k |\sum_2|^k = O(1).$$

Again

$$\begin{aligned}
 \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k |\Omega|^k &= \sum_{n=2}^{\nu} \left\{ \frac{1}{\mu_n} \right\}^k |\mu_n \chi_n n T_n|^k \\
 &= O(1) \sum_{n=2}^{\nu} n^{\alpha-1+k} |\chi_n|^k |T_n|^k = O(1) \sum_{n=2}^{\nu} \frac{(\lambda_n)^k}{n} |T_n|^k \\
 &= O(1) \sum_{n=2}^{\nu-1} \Delta \left\{ \frac{(\lambda_n)^k}{n} \right\} \sum_{i=1}^n |T_i|^k + O(1) \left\{ \frac{(\lambda_{\nu})^k}{\nu} \right\} \sum_{i=1}^{\nu} |T_i|^k \\
 &= O(1) \sum_{n=2}^{\nu-1} \Delta (\lambda_n)^k + O(1) \sum_{n=2}^{\nu-1} \frac{(\lambda_n)^k}{n} + O(1) \frac{(\lambda_{\nu})^k}{\nu^{k-1}},
 \end{aligned}$$

therefore

$$(4.7) \quad \sum_{n=2}^{\nu} \Delta \left\{ \frac{1}{\mu_n} \right\}^k |\Omega|^k = O(1).$$

Combining the estimates in (4.4), (4.5), (4.6) and (4.7), we find that (4.1) holds.

This completes the proof of the Theorem.

I would like to express my thanks to Dr. L. M. TRIPATHI for his kind help and encouragement in the preparation of this paper.

References.

- [1] G. D. DIKSHIT, *A note on absolute Riesz summability of infinite series*, Proc. Nat. Inst. Sci. India (Part A) **26** (1960), 541-544.
- [2] G. H. HARDY, *Divergent Series*, Clarendon Press, Oxford 1949.
- [3] H. C. CHOW, *On the summability factors of Fourier series*, J. London Math. Soc. **16** (1941), 215-220.
- [4] L. M. TRIPATHI, *On the absolute Riesz summability of the factored Fourier series*, Rend. Circ. Mat. Palermo (2) **14** (1965), 195-201.
- [5] R. MOHANTY, *On the absolute Riesz summability of Fourier series and allied series*, Proc. London Math. Soc. (2) **52** (1951), 295-320.
- [6] R. MOHANTY and S. IZUMI, *On the absolute logarithmic summability of Fourier series of order one*, Tôhoku Math. J. (2) **8** (1956), 201-204.
- [7] S. M. MAZHAR, *On an extension of absolute Riesz summability*, Proc. Nat. Inst. Sci. India (Part A) **26** (1960), 160-167.

* * *